Math 121 - Test 1 Jan 26 2009

Question 1:
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b)[5 points] Evaluate:  lim —
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Question 2: |
(a)[5 points] Evaluate: iﬂ%
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Question 3:

(a)[3 points] A rectangle has area 16 m?. Express the perimeter P as a function of the length z
- of one of its sides.
|6

| rg=lte > 4= %

& P= ax 42y = :zx%l(l_);): 2x+ 22

(b)[3 points] Let H(z) = sec?(v/z? —1) and h(z) = z?. Find functions f and g so that
H = f ogoh. (There are several possible correct answers.)

’?(X) = J?C—l ) Lo = secr x

€ 900 = S%(JXﬂ') , Sexy = %t

(c)[4 points| Let f(z) = —xl—z and g(z) =
(fog)(z) .
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Determine, simplify, and find the domain of
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Question 4:

2 E
(a)[5 points] Evaluate: lim w
z—T L — T
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(b)[5 points] Let f(z) = —1—— Evaluate and simplify the difference quotlent
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Question 5:
i ) =20
(a) [5 points] Evaluate: %1_{% ts;l;ll ((?715)) o
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(b)[5 points] Evaluate: hmx sin (%
(the Squeeze Theorem may help here).

1 g xlsin (35 < x
Stce  [lon (4) =g o b !
%> 0 e %)

o X/{S'z\m(%) =

¥ >0
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